ECE 312 HW#6  *** SOLUTION *****

Due next Monday


1. Problem 10-39.
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2. Problem 10-42 (do the magnitude plot only)
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3. Problem 10-49

See homework solutions for HW #5

4. Let 




Find the Fourier transform.


The easiest way to handle this is to convert the cosine to complex exponential form.







Then 
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Asignal x,(¢) has a CTFT X, (f). If x,(t) =x, (¢+4), what is the
relationship between [X, (/)| and [X, ()|? They are the same.

Asignal x,(1) has a CTET, X,(f). If x,(¢)=x,(¢/5), what is the
relationship between the maximum value of X, ( f)| and the maximum value of X, (£)|?

The maximum value of [X, (/)| is 5 times as great as the maximum value of [X, (f)-

A CTFT has the value, ¢ **'* at a frequency, f =20. Whatis the value of
that same CTET at a frequency of f=-207

Numerical value at f =20 = ¢/ =

)
i




image2.tiff
@

x()=0.1rect(t/40)
X(f)=4sinc(40)

X(jo)= 4sinc(200/ 7))
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x(1)=78,(t-

2)=78,(t+3)

X(£)=(7/5)8,(f)e " =(715)8,,(f)e "

X(jo)=(715)3,(w/2x)e > =(715) i §(w/2m—k/s)e >

X(jo)=(147/5) M 8(w-2mk/5)e
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